C€

Series SX3000/5000/7000
Body Ported

Valve Single Unit

How

to Order

CEAD m

For details about certified products
conforming to international standards,
visit us at www.smcworld.com.

SX

5

Series l
3 | Sx3000
5 | SX5000
7 SX7000

Type of actuation

2 position single
(A}(B)
42

513
(EA}P)(EB)

2 position double
('3)(08)

2 | =] ] =

ERP)EB)

3 position closed center

B
(ﬁ)(z)

AN

513
(EA)(P)(EB)

3 position exhaust center
(‘}) (23)

SE-ANIRVEE.

513
(EA)(P)(EB)

3 position pressure center

(ﬁ) (g)

T | LT

3
(EA) (P)(EB)

L

20—

01

I—o Bracket

Nil: Without bracket
F1: With foot bracket

® Manual override

Nil: Non-locking push

D: Push-turn locking
slotted type

¢ Light/Surge voltage
suppressor

Without light/surge

Wl voltage suppressor

Rated voltage

5 | 24VDC
6 | 12vDC
V| svDC
s | svbc
R | 3vbC

Common specifications
Nil
N

@

Positive common
Negative common

Note) Put nothing for sin-
gle grommet style
and single without
indicator light and
surge voltage sup-
presser.

1-6-12

With surge voltage

S suppressor

With light/surge voltage

4 suppressor

l Electrical entry

g

T

H: LN:
Lead wire length | Without lead wire

600 mm..
P~

Grommet L plug connector M plug connector
G: L: M: MN:
Lead wire length | With lead wire With lead wire ~ Without lead wire
300 mm (Length 300 mm) (Length 300 mm)

..;—_—

oA,

F2: With side bracke

ki

®Thread type
TNl [ Rc
F | G
N NPT
_T | NPTF
B port size

Thread piping

Symbol Port size Applicable series
M5 M5 x 0.8 SX3000
o1 1% SX5000
02 a SX7000

One-touch fitting (Metric size)

Symbol Port size Applicable series
C4 | One-touch fittings for o4
SX3000
C6 | One-touch fittings for o6
C4 | One-touch fittings for o4
C6 | One-touch fittings for 96 | SX5000
C8 | One-touch fittings for 88
C8 | One-touch fittings for 88
X7
C10 | One-touch fitting for 10 SX7000

One-touch fitting (Inch size)

Symbol Port size Applicable series

N3 | One-touch fitting for 85/32"
X

N7 | One-touch fitting for g1/4" SX3000
N3 | One-touch fitting for 95/32"
N7 | One-touch fitting for 1/4" |  SX5000
N9 | One-touch fitting for @5/16"
N9 | One-touch fitting for 85/16"

N11 | One-touch fitting for 23/8" SX7000

@,

* The LN or MN option includes 2 sockets for single solenoid
valves and 3 sockets for double solenoid valves.

SVC

O



o ;& N
"-"'ﬂ“ I -\'3"_;

Made to Order Specifications
o | (For details, refer to pages
1-6-124 to 1-6-138.)

Body Ported

Series SX3000/5000/7000

Specifications
Series SX3000 | SX5000 |  SX7000
Fluid Air
Internal pilot 2 position single 0.15t0 0.7
Operating pressure range | 2 position double 0.1t00.7
(MPa) 3 position 0.2t00.7
Ambient and fluid temperature (°C) Max. 50
Max. operating 2 position single, double 10 5 5
frequency (Hz) 3 position 3 3 3

Manual override

Non-locking push type, Push-turn locking slotted type

Pilot exhaust method

Common exhaust type for main and pilot valve

SV

Lubrication Not required

Mounting orientation Unrestricted SZ
Impact/Vibration resistance (m/s?)Ne) 150/30

Enclosure Dusttight

Q Note) Impact resistance:

Vibration resistance: No malfunction occurred in a one-sweep test between 45 and 2000 Hz.
Test was performed at both energized and de-energized states in the
axial direction and at the right angles to the main valve and armature.

No malfunction occurred when it is tested with a drop tester in the axial
direction and at the right angles to the main valve and armature in both
energized and de-energized states every once for each condition.

(Values at the initial period)

(Values at the initial period)

Solenoid Specifications

SY
SYJ

Electrical entry

Grommet (G)/(H), L plug connector (L),
M plug connector (M)

Coil rated voltage (V) | DC 24,12,6,5,3
Allowable voltage fluctuation +10% of rated voltage
Power consumption (W) \ DC 0.6 (With indicator light: 0.65)

Surge voltage suppressor

Diode

Indicator light

LED

Response Time

Note) Based on dynamic performance test, JIS B 8375-1981. (Coil temperature: 20°C, at
rated voltage)

SX3000

Type of actuation

Response time (ms) (at the pressure of 0.5 MPa)

Without light/surge

With light/surge voltage suppressor

voltage suppressor S, Z type

2 position single 12 or less 15 or less

2 position double 10 or less 13 or less

3 position 15 or less 20 or less
S$X5000

Type of actuation

Response time (ms) (at the pressure of 0.5 MPa)

Without light/surge

With light/surge voltage suppressor

voltage suppressor S, Z type

2 position single 19 or less 26 or less

2 position double 18 or less 22 or less

3 position 32 or less 38 or less
SX7000

Type of actuation

Response time (ms) (at the pressure of 0.5 MPa)

Without light/surge

With light/surge voltage suppressor

voltage suppressor S, Z type
2 position single 31 or less 38 or less
2 position double 27 or less 30 or less
3 position 50 or less 56 or less

O

1-6-13



Series SX3000/5000/7000

Model/Series SX7000

Port si Flow characteristics Weigh
Valve model | TYPEOf it S 15 472 (P = AB) 4/2 > 5/3 (B — EAJEB) elght (g)
actuation 1,5,3 4,2 C 5 c © b c G t L plug connector
(P,EA,EB)| (A, B) |[dm%(s-bar)] v [dm¥/(s-bar)] v rommet |\ piug connector
- Single 108 109
2 position Double 41 0.23 0.93 3.3 0.33 0.81 116 117
Closed center 2.9 0.31 0.70 2.4 0.38 0.63
SX70120--02 Exhaust Rc 14
2 psion|_ oot 25 0.39 0.65 3.4[2.1] |0.35[0.38] | 0.82[0.54] - 126 SV
Pressure 4.3[2.4] |0.23[0.32] | 0.97 [0.61] 22 0.39 0.58 —
center SZ
| Single | 1(P)port 114 116
2poston o Re 1 3.2 0.26 0.77 3.2 0.37 0.82 120 24 =
Closed center c8 2.6 0.24 0.63 2.4 0.31 0.62 SY
SX7020-1-C8 Exhaust 5,3 One-touch
3posion|_certer | (EA. EB) <ﬁmng o ﬂ8> 2.4 0.25 0.57 2.6[1.9] |0.42[0.46] | 0.70[0.56] 131 132 SY—
P’Ceesrfti're gg% 3.3[2.4] |0.28[0.22] | 0.78[0.57] 22 0.34 0.60 J
tion |->ndle 110 111
2 positon =5 =" - la 3.8 0.26 0.86 3.2 0.34 0.82 118 119
Closed center c10 2.8 0.27 0.67 2.4 0.21 0.59
S$X70120- (I-C10 Exhaust One-touch
2 psion|_ oot %mwma 25 0.25 0.59 2.7[2.0] |0.38[0.38] | 0.70 [0.56] - 128
P’Ceesrftiff 3.8[2.4] | 0.25[0.31]| 0.89[0.61] 2.3 0.38 0.61

Q Note) [ ]: Denotes normal position.

1-6-15

O
5



Series SX3000/5000/7000

How to Order
Construction Connector Assembly
for L/M Plug Connector

Series SX
JIS Symbol Positive common specifications
2 position single 2 position single For single solenoid: ~ SX100-40-4S
®® For double solenoid, _AN-
4 2 3position: SX100 40 4D
513 @ ® @ Negative common specifications
EAFEB) | I| For single solenoid: ~ SX100-41-4S
\ For double solenoid
3 position: $X100-41-4D
Lead wire length
il Nil 300 mm
== : | ~ e 6 600 mm
N v 10 1000 mm
5 | 3 \_55__ 15 1500 mm
(EA} (P} (E8) 20 2000 mm
25 2500 mm
.. 30 3000 mm
JIS Symbol 2 position double 50 5000 mm
2 position double A B} For detailed information on connector
(é)(B) B 4 H assembly, refer to page 1-6-8.
F a @ @& BT (@
7=\ ' YY HRiE BT S
513 [ il .
(EA)(P)(EB) \ | | | .'I
- F .y
= e e
=
b | b |
5 1 3 -I"Eiu
ER (P (EB) =
3 position closed center/exhaust center/pressure center
JIS Symbol
3 position closed center
(ﬁ)(2B)
a%a| AA (A (B)
ANV N
(EA) (P)(EB) T ]|' (& f-‘: | 1 @ @ @
3 position exhaust center , | / / / |
) \ R/
A E 1 | | I T J ; |
L — B 152
=5 g i g
(EA) (P) (EB) L. i} o e
3 position pressure center : 5._ — e
®e) e | !
A L2 4 e ——
5 1 = Y
"”L\‘ B P @B\
(EA)(P}(EB)

(This figure shows a closed center type.) ®

Component Parts

No. Description Material Note
Aluminum die-casted .

@ |Body (SX3000: Zinc die-casted) White

(2 |Adapter plate Resin White

(3 |End plate Resin White

(@) |Pilot body Resin White

(B |Piston Resin —

(® |Spool valve assembly| Aluminum, HNBR —

@ |Molded coil Resin Gray Bracket Assembly No.

Description Part no.

Replacement Parts B - , :

NG Description Partno Bracket (For F1) | SX5000-16-1A (With mounting screw)

Port block assembly | See “How to Order Port Block Assembly” on page 1-6-7. Bracket (For F2) | SX $000-16-2A (With mounting screw)
1-6-16

SVC

O



Series SX3000/5000/7000

| How to Change Port Block Assembly |

The cylinder port block assembly can easily be changed. When changing block assembly,
correct screw torque must be achieved. Cut off the air supply to confirm that no air is left in the
manifold before starting operation. Remaining air or inappropriate installation may cause an
accident.

@ For SX5000

Port block assembly

Port block assembly (CaSSETte type) i
(Thread type) : IM ST
{ sV

' l sz_

A\ Caution

[ Mounting screw tightening torques |
SX3000(M2): 0.17 N-m SX5000(M3): 0.8 N-m

Q * Refer to “How to Order Port Block Assembly” below for parts no.

How to Order Port Block Assembly
SY| [000—6A—

* Only replacement of the fittings assembly is possible.
Metric size

l l One-touch fitting for o4 VVQ1000-50A-C4
Series Thread type SX3000 ™5 6-touch fitting for @6 VVQ1000-50A-C6
Symbol|  Series TNil | Rc One-touch fitting for o4 VVQ1000-51A-C4
_ 3 | $X3000 F G $X5000 One-touch fitting for 06 VVQ1000-51A-C6
_5 | $X5000 N NPT One-touch fitting for 8 VVQ1000-51A-C8
7 | SX7000 T | NPTF sx7000 |_Qne-touch fitting for o8 VVQ2000-51A-C8
One-touch fitting for 210 VVQ2000-51A-C10
A, B port size e——— Inch size
Thread piping One-touch fitting for 85/32"|  VVQ1000-50A-N3
Symbol Port size Applicable series S One-touch fitting for g1/4" VVQ1000-50A-N7
M5 M5 x 0.8 SX3000 One-touch fitting for 5/32" VVQ1000-51A-N3
01 8 SX5000 SX5000 | One-touch fitting for @1/4" VVQ1000-50A-N7
02 Va SX7000 One-touch fitting for 5/16"|  VVQ1000-50A-N9
One-touch fitting (Metric size) SX7000 One-touch f?tt?ng for 85/16"| VVQ2000-51A-N9
Symbol Port size Applicable series One-touch fitting for #3/8" VVQ2000-51A-N11
Cc4 One-touch fitting for o4 SX3000
C6 | One-touch fitting for 26 Mounting screw
C4 One-touch fitting for g4
C6 One-touch fitting for a6 SX5000
C8 | One-touch fitting for @8 Port block assembly
C8 | One-touch fitting for @8 (Cassette type)
C10 | One-touch fitting for 10 SX7000
One-touch fitting (Inch size) Zings assembh
Symbol Port size Applicable series |
N3 | One-touch fitting for g5/32" SX3000 | :
N7 | One-touch fitting for @1/4" F§>I
N3 | One-touch fitting for @5/32" I
N7 | One-touch fitting for g1/4" SX5000 !
N9 | One-touch fitting for @5/16" /
N9 | One-touch fitting for @5/16"
N11 | One-touch fitting for 23/8" SX7000

O
5




Series SX3000/5000/7000

Dimensions: Series SX7000

2 position single
Grommet (G), (H): SX7120-01500-& (-F2)

Foot bracket
SX7120-0500-&, -F1

o
5

57
2-M4 x 0.7 depth65 46 55
(For mounting bracket) 20 29.4 31.5
: \
T e ©
= CRER i
‘\il His (Light/Surge voltage 2-04.2
‘ ‘ suppressor) (Mounting hole)
115.6
86.2 2-One-touch fittings |
(A, B port)
Applicable tubing
m O.D.: o8
210
Manual override ' @ ©
(Press and turn for 42 18.4 , 2-',34'2 ] , =
the locking type.) : (Mounting hole for manifold) T 0 é‘ -
(Light/Surge voltage (52) 134 - @
suppressor) (2-04.2 mounting hole) (13.4) o Hﬁﬂﬁ
© — o
s -
: (5.5) 486  [125] |
y P Talo l
K c]: RIS
o) H Al oo I
88/ T |
S 108.9 -[]& -
ik | — pFie 118 SX7120-0500-02 ..
E Polarity 18 18 - (EA, EB port) (A, B port)
3 indication g 20 ,/29.4
oo -l :
% AR
Nim
o
2-92.2 die-cast hole T
For manifold gasket positioning | 108.9
L plug connector (L): SX7120-0LO0-&, M plug connector (M): SX7120-00MO-&,
115.6
go. =300
19, 29.9 = 128.1
(Lead wire length) 86.2
19 29.9
] — 7 J\/ Polarity
Manual override ‘ 42 ‘ 2-g4.2
(Press and turn for 2-One-touch fittings  (Mounting hole
the locking type.) (A, B port) for manifold) Manual override ‘ ‘ 2-04.2
" . . Press and turn for the 2-One-touch fittings (Mounting hole
Applicable tubing O.D.: 08 (Pre: g -
pplicable tubing eﬁo locking type) (A, B port) for manifold)
(Light/Surge voltage — Applicable tubing O.D.: 28
Suppressor) g 210
: == (Light/Surge voltage f
1 | suppressor) —
. T T T ?:
Polarity i A Jr———© Ej /
indication [ef 7 ) 0% = ]
I | |9 | — T ——T0©
B e A 7 ™ 0%
S 3 o 5|3 I 5
S = _{
@ 107.5
1-6-24



Series SX3000/5000/7000

2 position double

Grommet (G), (H): SX7220-015 O0-&, (-F2)

Foot bracket
SX7220-005 00O-&, -F1

115.6 ié 55
86.2 2-One-touch fittings 31.5
19 299 (A, B port)
. 1 Applicable tubing 0.D.: 28 -
 —— =t /AN 02 2 e I 010 8%l
EIP ] AN\ e - N
{1 SxT— 1
s oarse/ o otz | (e
voltage suppressor :
the locking type.) 42 18.4 (Mounting hole for manifold) 9¢ SUpp ) (Mounting hole)
71.9 |
(Light/Surge voltage suppressor) 3 e o ©
=~ - o
T Hog -
=i — il
T i _l © —i
w0 ¥ T Nx
ool =
RURS!
Ll (6.5) 486 25 !
g8
S | 108.9
(OF = G
S$X7220-015 -02
Polari 39.4 2-Rc 1/8
olarity 2-Rc 1/4
indication 18 ] 18 o (EA, EB por) (A, B por)
o 20  /29.4
1 Wa e [,
T { ]
F %
Ao
Rc 1/4 T
2-02.2 die-cast hole (P port) l 108.9
(Press and turn for the locking type.)
L plug connector (L): SX7220-00LO0-&, M plug connector (M): SX7220-0MO0-&,
115.6
86.2
19299 2300 1281
(Lead wire length) 86.2
& T 19, 299 |
o] D /f\\f% < Polarity
L PR\ = indication . S
Manual override % | == §/ Y Cyﬁ 2‘2]
(Press and turn for 42 18. 2-04.2 i (@Y =
the locking type.) 71.9 (Mounting hole Manual override
2-One-touch fittings ~ for manifold) (Press and turn for 42 18.4 2-g4.2
(Light/Surge voltage (A, B port) the locking type.) 719 (Mounting hole
suppressor) Applicable tubing O.D.: o8 o 2-One-touch fitting for manifold)
210 © (A, B port)
F = Applicable tubing O.D.: 08 &
[=nvg l . 210 0
8} i (Light/Surge voltage suppressor)
) T © F =
g | ]: BRE L= l
NE 7 J I H==e
o \ ™ o]
- d o <
= N| ) ! o =
S| 2 f# o A Rl ,:[]4 N e
[So T -} I
iie \ 107.5
= F
'§ Polarity
= indication
1-6-25

O

SV
sz
S
SV




Series SX3000/5000/7000

Dimensions: Series SX7000

3 position closed center/exhaust center/pressure center

; Foot bracket
Grommet (G), (H): SX7:20-0% OO-&, (-F2)

SX7120-05 O0-, -F1

57
128.6
99.2 2-One-touch fittings
19 42.9 (A, B port) © =
Applicable tubing 0.D.: o8 gl = o M
%) - 210 - ”‘H_
A aNlarac:t <
i N e
Manual override B 2.54.2 (Light/Surge 2-04.2
(Push and turn for locking) 42 31.4 | (Mounting hole for manifold) voltage suppressor) (Mounting hole)
A: Orange ' 84.9
B: Green - a1
R =
(Light/Surge voltage suppressor) ;‘3
=== B
— o 1 I ©
| Lz'( T == < ﬁ ]
‘ | — o2l % H =
3 | & T
P==N 2 { It
e W |
QR g m | 121.9 ‘
GT|g. o
= 2-Rc 1/8 =
3 52.4 (EA, EB port) (5.5) 48.6 25
Polarity 18 | 18 > '
indication S 3
A~ A 494 N} SX7 H 20-05 00O-02
c & asterd . 2-Re 1/4
Rc 1/4 20 (/1, B4port)
(P port) 2
2-92.2 die-cast holes -l
For manifold gasket positioning i e
% AEE
a e
\T 121.9
3 3
L plug connector (L): SX7:20-0LOC- &, M plug connector (M): SX7 :20-CIMOIO- &
128.6 ~300
99.2 =800, 141.1
19 42.9 (Lead wire length) 99.2
© Polarity 19 42.9
. 2 indication ©
T e (AR e -
I I BN ook /ﬁ}\/()\* 1
Manual override /L 42 314 _ /L__ @
(Push and turn for locking type) f : Manual override 42 31.4
A: Orange \ 84.9 \ (Press and turn for the locking type) \
B: Green 2-One-touch fittings 2-04.2 S 8range 2 \
B 9 (Mounting holes -areen _2-04.2
(A,Bport) for manifold) (Mounting hole
Applicable tubing O.D.: 28 & 2-One-touch fittings for manifold)
_ 010 © (A, B port)
(Light/Surge voltage === Applicable tubing 0.D.: 08
suppressor) ’ H l
010
= - 1 =
H o (Light/Surge voltage g
© '-“_’ < — suppressor) —— -
c ik ) ENEN
= i L i 5 o
= ™ @
IR N D < Q 2|
(m) g 120.5 i © ) J i ™
g ]
B
3
1-6-

o
5



Series SX3000/5000/7000

Base Mounted

Valve Single Unit

How to Order

For details about certified products
conforming to international standards,
visit us at www.smcworld.com.

SX|5 40

Series l
3 SX3000
5 SX5000
7 SX7000

Type of actuation

2 position single
(A}(B)

' e

3
(EA)(P)(EB)

2 position double

(A)E)
=AY

4 2
=m

EA (P EB)

3 position closed center

(/‘\1) (28)

M NN

513
(EA)(P)(EB)

3 position exhaust center

®e)

N

L

4
CNVAVIR:
2
(EA) (P)(EB)
3 position pressure center
(Q)(E)
5
AN\ T
(EA) (P)(EB)
Pilot type o Rated voltage ®
Nil Internal pilot 5 24 VDC
R External pilot 6 12 VDC
\ 6 VDC
S 5VDC
R 3VDC
Common specifications e
Nil Positive common
N Negative common
Note) Put nothing for sin-
gle grommet style
and single without
indicator light and
surge voltage sup-
presser.
1-6-28

L e Thread type

D: Push-turn locking
slotted type

(Zh

i | =

Nil Rc
F | G
N NPT
T | NPTF
Port size
¢ Manual override Symbol Port size Applicable series
Nil: Non-locking Nil Without sub-plate
push type A
T U With sub-plate §X3000
et
]’[mﬂj 02 Vs SX5000
L] }'| With sub-plate SX7000
I 03 With sub-plate SX7000

Ul
It
¢ Light/Surge voltage
suppressor

Nil

Without light/surge
voltage suppressor

S

With surge
voltage suppressor

z

With light/surge
voltage suppressor

® Electrical entry

Grommet L plug connector M plug connector
G: L: M: MN:
Lead wire length | With lead wire With lead wire  Without lead wire
300 mm (Length 300 mm) (Length 300 mm)
ia i 'Fr | 7
L}i‘; i*-. A ‘TE' :
H: LN: I LO: MO:
Lead wire length | Without lead wire Without connector | Without connector
600 mm
Ly i i
Bl | IH {h
el | o | |
Ll [ [y
b P ’

@,

O
5

* The LN or MN option includes 2 sockets for single solenoid
valves and 3 sockets for double solenoid valves.



Specifications
Series SX3000 | SX5000 |  SX7000
- - Fluid Air
% Internal pilot 2 position single 0.15t0 0.7
= o _1.____r,,_--’ O“;;Ie::r’atlng pressure range | 2 pos!t!on double 0.1100.7
B ' (MPa) 3 position 0.2100.7
e . . Operating pressure range —100 kPa to 0.7
External pilot ’ T
7 Pilot 2 position single 0.251t0 0.7
= -3 Operating pressure range -
J 3 L (MPa) pressure |2 position double 0.25t0 0.7
: ‘ P L i range [3posiion 0.25100.7 —
r l—-—"". Ambient and fluid temperature (°C) Max. 50 SV
.o ? ! 2 position single, double 10 5 5 .
\ Max. operating frequency (Hz) —
3 position 3 3 3 SZ
Manual override Non-locking push type, Push-turn locking slotted type
, Internal pilot Common exhaust type for main and pilot valve
L) A e External pilot Pilot valve individual exhaust SY
Lubrication Not required ——
Mounting orientation Unrestricted SYJ
Impact/Vibration resistance (m/s?)Nete) 150/30 ——
Enclosure Dusttight

Made to Order Specifications
(For details, refer to pages
1-6-124 to 1-6-138.)

Series SX3000/5000/7000

Q Note) Impact resistance: No malfunction occurred when it is tested with a drop tester in the

Vibration resistance:

Solenoid Spec

axial direction and at the right angles to the main valve and
armature in both energized and de-energized states every once for
each condition. (Values at the initial period)

No malfunction occurred in a one-sweep test between 45 and 2000

Hz. Test was performed at both energized and de-energized states
in the axial direction and at the right angles to the main valve and
armature. (Values at the initial period)

ifications

Electrical entry

M plug connector (M)

Grommet (G)/(H), L plug connector (L),

Coil rated voltage (V) | DC 24,12,6,5,3
Allowable voltage fluctuation +10% of rated voltage
Power consumption (W) \ DC 0.6 (With indicator light: 0.65)

Surge voltage suppressor
Indicator light

Diode
LED

Response Time

Q Note) Based on dynamic performance test, JIS B 8375-1981. (Coil temperature: 20°C, at rated voltage)

S$X3000
Response time (ms) (at the pressure of 0.5 MPa)
Type of actuation|  Without light/surge With light/surge voltage suppressor
voltage suppressor S, Z type
2 position single 12 or less 15 or less
2 position double 10 or less 13 or less
3 position 15 or less 20 or less
SX5000

Response time (ms) (at the pressure of 0.5 MPa)

Type of actuation|  Without light/surge | With light/surge voltage suppressor
voltage suppressor S, Z type

2 position single 19 or less 26 or less

2 position double 18 or less 22 or less

3 position 32 or less 38 or less

SX7000

Response time (ms) (at the pressure of 0.5 MPa)

Type of actuation Without light/surge With light/surge voltage suppressor
voltage suppressor S, Z type

2 position single 31 or less 38 or less

2 position double 27 or less 30 or less

3 position 50 or less 56 or less

O

1-6-29



Series SX3000/5000/7000

Flow Characteristics/Weight

Model/Series SX3000

Flow characteristics Weight (@) @
_ . 15 42 (P = AB) 4/2 > 5/3 (AB — EAJEB) eight (g)
Valve model [Type of actuation Port size
(6] b Cv C b Cv o - L plug connector
[dm®%(s-bar)] [dm®%(s-bar)] M plug connector
” Single 100 (66) 101 (67)
2 position Double 1.0 0.30 0.24 1.1 0.30 0.26 108 (74) 110 (75)
Closed center 0.77 0.28 0.18 0.85 0.30 0.19
SX30140--01 Exhaust Rc 18
3postion|__center 0.73 0.31 0.18 1.1 [0.55] |0.26[0.52] | 0.24 [0.16] 111 (76) 112 (78)
P;Zfﬁ;‘:e 1.2[0.51] |0.24[0.45] |0.29 [0.14] 0.89 0.47 0.24
Note 1) [ ]: Denotes the normal position.
Note 2) ( ): Without sub-plate.
Model/Series SX5000
Flow characteristics .
_ . 15 42 (P — AB) 4/2  5/3 (A/B  EAEB) Weight (g) ©
Valve model |[Type of actuation Port size
C b Cv C b cv T L plug connector
[dm®%(s-bar)] [dm®%(s-bar)] M plug connector
" Single 136 (74) 137 (75)
2 position Double 2.4 0.41 0.64 2.8 0.29 0.66 144 (82) 145 (83)
Closed center 1.8 0.47 0.50 1.8 0.40 0.47
SX50140-0-02 | [ Exhaust Rc V4
3posion|  center 1.4 0.55 0.44 3.0[1-2] | 0.33[048] | 0.72[0.37] | 145 g | 151 (gg)
P(';Zﬁg:e 3.3[0.84] |0.36[0.60] | 0.85 [0.28] 1.8 0.40 0.48
Note 1) [ ]: Denotes the normal position.
Note 2) ( ): Without sub-plate.
Model/Series SX7000
Flow characteristics .
. . 1542 (P> AB) 4/2 — 5/3 (A/B — EAJEB) Welght (g) =
Valve model [Type of actuation Port size
C b c C b c G L plug connector
[dm¥(s-bar)] v [dm%(s-bar)] v rommet |y oiyg connector
” Single 222 (100) | 223 (101)
2 position Double 41 0.41 1.1 41 0.29 1.0 229 (107) | 231 (109)
Closed center 3.0 0.43 0.80 2.6 0.41 0.72
SX7040-1-02 Exhaust Rc V4
3pusin|_ center 2.6 0.42 0.71 47[1.7] |035[0.48] | 1.1[049] | ..o (16) | 240 (118)
Pgeefﬁ;’:e 5.3[2.3] |0.39[0.49] | 1.3[0.65] 2.2 0.49 0.63
” Single 222 (100) | 223 (101)
2 position Double 4.9 0.29 1.2 4.5 0.27 1.1 229 (107) | 231 (109)
LT Closed center 3.0 0.40 0.80 2.6 0.45 0.73
-L- Exhaust Rc 3
3poston|_center 2.6 0.42 0.71 48[1.7] |0.35[0.48] | 1.1[0.49] | .0 (16) | 240 (118)
P
contor 5.3[2.3] [0.31[051]| 1.3[0.64] | 23 0.45 0.66
Note 1) [ ]: Denotes the normal position.
Q Note 2) ( ): Without sub-plate.
1-6-30

O
5



Series SX3000/5000/7000

How to Order

Construction Connector Assembly
) for L/M Plug Connector
Series SX
JIS Symbol Positive common specifications
2 position single 2 position single For single solenoid: ~ SX100-40-4S
»{B) i
2% P ®E® @ 1 3 o atone 56N 5X100-40-4D
mzmg—_g‘z \ / Negative common specifications
(EA)P)(EB) ; 1 For single solenoid: ~ SX100-41-4S SV
— For double solenoid, p—
. | 3 position: S$X100-41-4D SZ
L - C Lead wire length O I e
= = ] — Nil 300 mm SY
6 600 mm L
10 1000 mm
15 1500 mm SYJ
20 2000 mm
25 2500 mm
JIS Symbol 30 3000 mm
2 position double 50 5000 mm

For detailed information on connector
assembly, refer to page 1-6-8.

JIS Symbol
3 position closed center
We 7 @ B @ @
N AA 3
PA\L T [ 1/ / /
513 ] b ¥ -
(EA) (P)(EB) e — §
3 position exhaust center B e =
®) (53) P
513
(EA)(P)(EB)
3 position pressure center
(%‘\1)(08)
ﬁsk\‘E (This figure shows a closed center type.)
513
(EA) (P){EB)
Component Parts
No. Description Material Note
® Aluminum die-casted Whi
Body (SX3000: Zinc die-casted) ite
(2 |Adapter plate Resin White
(3 |End plate Resin White
(@) |Pilot body Resin White
® |Piston Resin —
(® |Spool valve assembly Aluminum, HNBR —
@ |Molded coil Resin Gray
Replacement Parts A\ Caution
- Part no. [Mounting Screw Tightening Torques|
No.]  Description SX30140 SX50140 SX70140 Note M2: 017 Nem
1/ Re: SY7000-27-1 . . M3: 0.8 N-m
Sub-plate SY3000-27-1 SY5000-27-1 |, /o Ro: SY7000-27-2 Aluminum die-casted M4: 1.4 N-m
© | Gasket SY3000-11-25 SY5000-11-15 SY7000-11-11 HNBR
Round head SX3000-22-2 For valve mounting
| combination screw (M2 x 24) M3x 30 M4 x 35 (Matt nickel plated)

SMC 1-6-31

O



Series SX3000/5000/7000

Dimensions: Series SX7000

2 position single

Grommet (G), (H): SX7140(R)-C0 s001- %

M5 x 0.8

(Pilot EXH port)

Polarity
indication 24 225
BE 3
[}
OO
1 =8
L |
o I
L L
215 Manual override 59 6.4 o
(Press and turn for
the locking type.)
@ @]
et RS
— E—" £ 8¢ Y
\’_— &
ruE| =) (3] T
Pl T
2-04.3 61 10.4 21.5
(Mounting 86.2 M5 x 0.8
hole) —
15.6 (External pilot port)
<In the case of external pilot type>
(Light/Surge voltage suppressor) .
0 o=
: |
I ‘} ~l 0
=1 ’ 8| 8
[o¥e) *Ls, — -
So |8 ™~ WARY 2R e
NO (@ < I\ P
inle & ; {T\} i ‘@IN
[OF ;_ |7 \% ©
3 20.5 | 205 9
33 -
5-Rc 3/8, 1/4
102.5 (Piping port)

L plug connector (L): SX7140(R)-CILCIOI-%

Manual override

M plug connector (M): SX7140(R)-C0MC1-5

Manual override 69 6.4 215 &9 b4
s (Press and turn for ‘ t('I:relsskand tturn f)or
i e locking type. T
the locking type.) |\\ A Orangs @ ©
EE] ] @ B: Green ____’@_____,__
5 a—Rd e a8l Q — ey e o é" 3 <
~ Polarity \F T
A 7l FH T indication \I [€4] 7] jaal J
&1 ]
21 2-04.3 61 10.4 21 2-043 61 10.4
M5 x 0.8 (Mounting 86.2 M5X0.8 ﬁ]Mlounung 86.2
(Pilot EXH port) hole) (POt EXH port) ole) 1281
<In the case of external pilot type> 156 <In the case of external pilot type>)
(Light/Surge voltage suppressor) (Light/Surge voltage suppressor)
=300
L |
(Lead wire length)
T
Polarity T |
indication < )
| 53 53
9|3 0|3
5 _ @ ~ o 3 FaYgYe o
% N i ; \ of & 1 ' k) ‘Q]N
S @ ST \N"RE
Mz 205 | 205 @ 205 | 205 0
S — - = s =
3 33 5-Rc 3/8, 1/4 5-Rc 3/8, 1/4
101.1 W (Piping port)
1-6-38

O



Series SX3000/5000/7000

2 position double
Grommet (G), (H): SX7240(R)-005 OO-%

Polarity
indication 2 22.5
i @
HO—* -
+ ]
T  ——
9 | SZ
vl ——
c - s;‘r
719 I
Manual override
215 (Press and turn for the 69 5.4 2 SYJ
locking type.)
A: Orange 5
B: Green K{}:
7 15 ] [f ] 0| © @,
4 - ul - —l
t ] L a1 - 3| ¢ 3 @}9—
Y E3)
BIE_AI [l E3 1
21 2-54.3 61 10.4 215
M5 x 0.8 86.2 M5 x 0.8
(Pilot EXH port) 115.6 (External pilot port)
<In the case of external pilot type>
(Light/Surge voltage suppressor) .
-
q j
r d N w
— o O
col= = 0| ©
o5 |2 ~ 0
DO |3 W 3
U s @© -+ ‘@' + ©
GI|E o ( > ; J g &
]
= 20.5 | 205 9
33 .
5-Rc 3/8, 1/4
n25 (Piping port)
L plug connector (L): SX7240(R)-CJLOC-g% M plug connector (M): SX7240(R)-CJMCI0-3%
71.9 71.9
Manual override Manual override
21.5 69 6.4
215 (Press and tur for 69 84 (rl?relss;nd turn for
the locking type.) — the loc '|ng type.) 5
I 9
: Green L RN : ———@q——
R . A et 8 Q 1 el o8| ¢
R Y ¥ Polarity \l—:d————-fg__[_
N
E 5 @ = |  indication II{L[E_A‘ B 8 ]
2 2-043 61 10.4 2-94.3 61 104
M5x0.8 %‘;‘;ming 86.2 o g\g%;nnng 86.2
(Pilot EXH port) o por ' 128.1
<Inthe case of external pilot type> 15.6 <In the case of external pilot type>

(Light/Surge voltage suppressor) (Light/Surge voltage suppressor)

=300

—

(Lead wire length)
Polarity T d
indication g i
N ¥ i
= - . 0
= L -t;f% =
['s)

= | 5-Rc 3/8, 1/4 ® 5-Rc 3/8, 1/4
10141 \Ohe o, (Piping port)

— —J}

58.7
60.5
58.7
60.5

26.5
339
o

13.5

(Lead wire length)

n
o
<]
n
o
<

1.5

n
o
&)
N
o
&)

(Piping port)

SVC 1-6-39

O



Series SX3000/5000/7000

Dimensions: Series SX7000

3 position closed centgr/exhaust center/pressure center
Grommet (G), (H): SX7:40(R)-015 00-G

Polarity
indication 21 22.5
)
// /‘\ (vs
=[50 F
| !
A =
2 ]
i
q d '
L 4
84.9
Manual override 69 19.4
215 (Press and turn for the - 21
locking type.)
A: Orange |
B: Green N
- 3
- B - o ——+8|Q B o
} & & M
T l
o8 | E8 \
o] J
21 2-04.3 61 23.4 215
M5 x 0.8 LMF‘;"“”Q 99.2 M5 x 0.8
ole A
(Pilot EXH port) 128.6 (External pilot port)
<In the case of external pilot type>
(Light/Surge voltage suppressor) - T
5 :
— 0 ' ~| w0
s - | ol 9
=4 - $ 0| ©
838|e ~ — 0
Dol o o0 7!
uru| = 0 + ‘@ Y ©
szl ° ' J 8 ©
-
= 205 | 205 L
33 T
5-Rc 3/8, 1/4
102.5 (Piping port)
3 3
L plug connector (L): SX7: 40(R)-CILOC-63 M plug connector (M): SX7:40(R)-CO0MOO-g
Manual d %2 Manual d 84.9
anual override anual override
21.5 69 19.4 .
(Press and turn for 21.5 (Press and turn for 69 194
the locking type.) . the locking type.)
be:
A: Orange ] A: Orange ©
& ]B: Green L B: Green ___@ B
I} 151 1 =
< = B oo e ———=- 8¢ =B —RPo e & 8l e
\F— -l Polarity o
I;\I Ex B ER | indication \I | 3] ] J|
21 2-043 61 234 2-043 51 | 234
M5 x 0.8 (th)l;mmg 99.2 (Mounting 99.2
(Pilot EXH port) o 128.6 (Pilot EXH por) hole)
<In the case of external pilot type> D . 1411
(Light/Surge voltage suppressor) <In the case of external pilot type>

(Light/Surge voltage suppressor)

=300
—
(Lead wire length)

e
Polarity H ]
indication g } q !
. i ; H ’
‘ ?
Bid o >

~[10 ~lw
- Sk R 8|3

i 7 3 an W

g E[ VAYAGYi 318 i w ‘Ig €

2 7 s = i =

= 20.5 | 20.5 0 205] 205 | \|@

' — = \l

= ’ 33 I\ 5-Re 38, 14 53 5-Rc 3/8, 1/4

1011 o T

(Piping port) (Piping port)

1-6-40

O
5



Series SX3000/5000/7000
Body Ported Manifold
Bar Stock Type

Individual Wiring

How to Order Manifold How to Order Valve Manifold Assembly
SS X 20 0 Ordering example
5 5 5 Cylinder port size
l C6: With One-touch fittings for 26'* =
P, R ports i W Iy Single solenoid (24 VDC)
. . ’ L) = Ca ) I
Series Stations Thread type = =) fsx3120-5e-ce (2 set)
SX3000 —_— — Double solenoid ! !
3 0_2 2 stations il Re (24 VDC) ) Blanking plate assembly
5 SX5000 H : 00F G S$X3220-5G-C6 SY3000-26-9A (1 set)
7 SX7000 20 |20 stations 00N | NPT (2 set) =3 Manifold base
—_— 00T *NPTF (5 stations)

m S’e”bf; :
S..

* Connector assembly for L and M types
* Common connector assembly for manifold

-« Refer to page 1-6-8.
-- Refer to page 1-6-9.

SS5X3-20-05:++++++-+ 1 set (Type 20, 5-station manifold base part no.)
xSY3000-26-9A------- 1 set (Blanking plate assembly part no.)
*SX83120-5G-C6------ 2 sets (Single solenoid part no.)
«SX3220-5G-C6-+---- 2 sets (Double solenoid part no.)

* The asterisk denotes the symbol for assembly. Prefix it to the
part nos. of the solenoid valve, etc.

Add the valve and option part number under the manifold base part number.
In the case of complex arrangement, specify them on the manifold
specification sheet.

How to Order Valves

SX|5(1]20—5]|N|/L — 01

Series ® l A, B port size } lThread type
3 SX3000 Symbol Port size Applicable series Nil Rc
5 SX5000 M5 M5 x 0.8 F | G
7 SX7000 C4 |One-touch fitting for 4| SX3000 N NPT
. C6 |One-touch fitting for @6 T NPTF
Type of actuation ——- o1 A
1 2 position single C4 |One-touch fitting for o4
— °
2 2 position double Ratmolti C6 |One-touch fitting for 06 SX5000
3 | 3position closed center _5 | 24VDC C8 |One-touch fitting for o8
4 | 3 position exhaust center _6 | 12VDC 02 A
5 |3 position pressure center _V | 6VDC C8 |One-touch fitting for 88| SX7000
B 5VDC C10 | One-touch fitting for 10
R 3VDC
——— e Manual override
Common e i Non-locking push type
sPeCiﬁcations '\ll:;l Push-turn Iockigng slottzz type
Nil |Positive common Electrical entry ®
N |Negative common Grommet L plug connector | M plug connector .
: - , , : - ® Light/Surge voltage suppressor
G: Lead wire length |L: With lead wire M: With lead wire = - -
300 mm (Length 300 mm) (Length 300 mm) Nil Wlth9ut light/surge voltage suppressor
) _ H:Lead wire length |LN: Without lead wire |MN: Without lead wire S With surge voltage suppressor
Note) Put nothing for sin- 600 mm LO: Without connector [MO: Without connector Z | With light/surge voltage suppressor
gle grommet style

and single without * The LN or MN option includes 2 sockets for single
indicator light and solenoid valves and 3 sockets for double solenoid
surge voltage sup- valves.

presser.

1-6-42

O
5



Manifold Option

Series SX3000/5000/7000 WX

Manifold Specifications

Body Ported

Model S$S5X3-20 SS5X5-20 SS5X7-20
Applicable valve SX30120 SX50120 SX70120
Manifold type Single base/B mount
P (SUP)/R (EXH) Common SUP/Common EXH
Valve stations Nete) 2 to 20 stations
A, B port location Valve
P, EA, EB port Rc /s Rc Va Rc /4
Rc /8
. M5 x 0.8 - Rc Va
FelEEC A, B port C4 (One-touch fitting for o4) c4 (One-touch fl.ttlng o4) C8 (One-touch fitting fore8) [
C6 (One-touch fitting for o6) | 0 (One-touch fiting for o6) | s, ' 0 4oy ch fting for 010) | SV
9 C8 (One-touch fitting for ¢8) 9
Manifold base weight W (g) _ _ _
n: Stations W =19n + 45 W =43n+77 W =51n + 81 SZ
Note) For more than 10 stations, supply pressure to P port on both sides and exhaust from EA and [
EB port on both sides. SY
Flow Characteristics SYJ
Port size Flow characteristics L
1— 4/2 (P — A/B) 4/2 — 5/3 (A/B — EA/EB) SX
hosgl 1,5,3 4,2 < o
z ’ [dm¥/ b Cv [dm?¥/ b Cv
(P.EAEB)|  (AB) | (s pan) (s-ban)]
SS5X3-20 Rc V8 C6 0.72 0.29 0.18 0.80 0.36 0.21
S$S5X5-20 Rc V4 c8 1.9 0.28 0.48 2.2 0.20 0.53
SS5X7-20 Rc V4 C10 3.6 0.31 0.93 3.6 0.27 0.88

Q Note) The value is for manifold base with 5 stations and individually operated 2 position type.

H Blanking plate assembly

v

Series Assembly part no.
SX3000 SY3000-26-9A
SX5000 SY5000-26-20A
SX7000 SY7000-26-22A

H Bolt and gasket part no.

B Individual EXH spacer assembly

(End plate)

EXH port
(Both sides)

(End plate)

H Individual SUP spacer assembly

SUP port""

Round head combinali Series Assembly part no. | Port size Series Assembly part no. | Port size
ound head combination screw SX3000 SX3000-39-1HA | M5x0.8 SX3000 SX3000-38-16A | M5x0.8
SX5000 SX5000-39-1EA 8 S$X5000 SX5000-38-1EA Rc 18
S$X7000 SX7000-39-20A Ya S$X7000 SX7000-38-20A Rc 14
[ ] P|ug Note) The SUP port may be either . Thread type
. . on the lead wire side or on —_—
Inserted into an unused cylinder port and the end plate side. Nil Rc
SUP/EXH ports. Purchasing order is (Factory assembled spacer — [~
available in units of 10 pieces. will be shipped with the
L orientation shown in the _ N NPT
- n Dimensions figure.) T | NPTF
kil Applicable fitting Model A L D B
Gasket : 1 od a e
w 4 KQ2P-04 16 32 R — T
6 KQ2P-06 18 35 8 A ]
Round head 8 KQ2p-08 205 39 10
Series | combination screw Gasket 10 KQ2P-10 22 43 12 Caution
SX3000 x> | SY3000-11-24 5/32" KQ2P-03 16 32 6 |A |
M3 x 30 1/4" KQ2P-07 18 35 8.5 Mounting Screw Tightening Torques
SX5000 | (Matt &;‘Zkf!., gated) SY5000-11-10 oy KQoP-09 05 o m M2:0.17 N-m
SX7000 | (Matt nickei plated) | SY7000-11-9 38" KQ2P-11 22 43 15 mzf (1).§a1 Nm

A Warning

When mounting a valve or spacer on the manifold base or sub-plate, etc., those mounting directions
are determined. If mounted in the wrong direction, the equipment to be connected may cause

malfunction. Refer to external dimensions in pages 1-6-44 to 1-6-46, and then mount it.

ZSNC

1-6-4

3




SX7000: SS5X7-20-

Grommet (G)
2n2-One-touch fittings 2n1-Rc 1/4
(A, Bport) L1 (A, B port) 6-Rc 1/4
Applicable tubing O.D.: 1@2 L2 10| 4-04.5 (P, EA, EB port)
e (Mounting hole) 16.5
: B 11.5
o ST T [—l 1) U%ﬁ
| | BgEwsesEER 7 |]o : &)
SN 7N =N N 7an\ 7a - ¢
0l o N2\ N2y \ )\ of — ) o
©| o N| hd N w ©
QIR © SLDIDKD <> C> Q( @ ST A N8 o
~— m N "
: gRpEaEmEmE 5 0 F : D 3
LU
[&] 28.2
. G:2300

- (Pitch) i H: =600 -
w/ Manual override Individual SUP

(Press and turn for the P=19 23.5 (Press and turn for the (Lead wire length) spacer mounting size
locking type.) locking type.) )
A: Orange . (SUP port is mounted on the
B: Green Individual EXH end plate side of single
(Stationn) - ————————- (Station 1) spacer mounting size & solenoid.) oy
T} ©v
& Light/Surge voltage suppressor = =
Lo
= ©
EXHport |- [3@ SUP port ©
Rc1/4 Q@ Rci/d ©
: o
=(Both sides) o Ej{g@
o - e ol O—=2
2l ol N ~ al= / \J e
© @ : © A
©
8V}
L plug connector (L) M plug connector (M)
T U
y HH?E - \
bt § - a1 ’q_)\
ik @ 9§z
T 9% gl 8| 3
g al )| 8
. o L -
g ol D 2 (3
L w .=
o = (D
2 -z
= =5l =
z | ¥
o - =2
K]
=300 _%’
(Lead wire length) Sl o
3
S5
33.4

n: Stations (n1 + n2)

Stations n |2stations| 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19  |20stations

L1 66 85 104 | 123 142 161 180 | 199 | 218 | 237 | 256 | 275 | 294 | 313 | 332 | 351 370 | 389 | 408
L2 46 65 84 | 103 | 122 141 160 | 179 198 | 217 | 236 | 255 | 274 | 293 | 312 | 331 350 | 369 | 388
1-6-46

O
5



Series SX3000/5000/7000
Body Ported Manifold
Bar Stock Type

Flat Ribbon Cable

How to Order Manifold How to Order Valve Manifold Assembly

Ordering example

SS5X 5 . 20 P | 05 Cylinder port size

l ©6: With One-touch fittings for o6 Single solenoid (24 VDC)
SX3120-5MOZ-C6 (3 set)
Series _'F;‘R pgl;ts Double solenoid (24 VDC) _
Stations _1hread lype SX3220-5MOZ-C6 (2 se)_ X 5% - Z‘\a{"k'”g plate Zssemb'y
3 SX3000 03 | 3 stations Nil Rc (For double soIenmd)@ ) 3000-26-10A (1 set)
5 SX5000 _ 00F G Connector assembly |] ) .
8 : | = SX3000-23-2A Manifold base (6 stations)
7 SX7000 2 (12 stations 00N | NPT =7, SS5X3-20P-06
Note) For 5s5x3;: 00T | NPTF o i
41012 U, .
) s..
stations.

(For single solenoid)
Connector assembly

Common specifications ® SX3000-23-1A
P | Positive common SS5X3-20P-06---------- 1 set (Type 20P, 6-station manifold no.)
N | Negative common xSY3000-26-10A.-------1 set (Blanking plate assembly part no.)

*SX83120-5MOZ-C6--- 3 sets (Single solenoid part no.)
xSX3220-5MOZ-C6--- 2 sets (Double solenoid part no.)
#SX3000-23-1A..-..-..- 3 sets (Connector assembly no.)
*SXB8000-23-2A: -+ 2 sets (Connector assembly no.)

L * The asterisk denotes the symbol for assembly. Prefix it to the
part nos. of the solenoid valve, etc.

Add the valve and option part number under the manifold base part number.
In the case of complex arrangement, specify them on the manifold
specification sheet.

How to Order Valves

SX|5|1]20—5||N|MOZ| 01

) I_'l ® Thread type
Series A/B port size Nil Rc
3 SX3000 Thread piping F G
F7> giiggg Rated voltage Symbol Port size Applicable series : NPT
5 24 VDC M5 M5 i( 0.8 SX3000 NPTF
_ 6 | 12vDC o1 /8 SX5000
Type of actuation — 02 Va $X7000
1 2 position single c ificati s One-touch fitting (Metric size)
2 2 position double om_mon sPe_?' ications Symbol Port size Applicable series
3 | 3 position closed center Nil Posmye common C4 | One-touch fitting for o4 "
4 3 position exhaust center N Negative common C6 | One-touch fitting for o6 SX3000
i * Common specifications —
5 | 3 position pressure center Q for the valve must C4 | One-touch fitting for o4
correspond with C6 | One-touch fitting for o6 SX5000
common specifications C8 | One-touch fitting for @8
for the manifold. C8 | One-touch fitting for 08 SX7000
One-touch fitting fi 10
How to Order Connector Assembly C10] One-touch Ttting for 10 | _
* Positive common specifications . One-touch ﬂttmg (InCh 5|ze)
For single solenoid: ~ SX3000-23-1A Manual override e———— 5y Port size Applicable series
For double solenoid, 3 position:  SX3000-23-2A " N ; - i u
« Negative common spedifications Nil Non Iockmg push type N3 | One-touch fitting for 05/82"| o oo
For single solenoid: ~ SX3000-24-1A D Push-turn locking slotted type N7 |One-touch fitting for &1/4"
For double solenoid, 3 position: SX3000-24-2A N3 | One-touch fitting for 95/32"
For detailed inf N7 | One-touch fitting for o1/4" SX5000
or detailed information on connector s "
m assembly, refer to page 1-6-9. N9 |One-touch fitting for g5/16
N9 | One-touch fitting for 95/16"

SX7000

N11 | One-touch fitting for 3/8"

1-6-48

O
5



e Multiple valve wiring s
simplified through the use of
the flat cable connector.

e Clean appearance

In the case of a flat cable style, each
valve is wired on the print board of
manifold base to allow the external
wiring to be piped all together with 26
pins MIL connector.

Manifold Specifications

20P
series $X3000/5000/7000 WA\

Model SS5X3-20P | SS5X5-20P § SS5X7-20P §
Applicable valve SX30120 SX50120 SX70120
Manifold type Single base/B mount

P (SUP), R (EXH)

Common SUP/Common EXH

Valve stations Note

4 to 12 stations

[

3 to 12 stations

A, B port location Valve
P, EA, EB port Y8 Ya Va
1Z)
" M5 x 0.8 - 1

Port size A, B port C4 (One-touch fitting for o4) C4 (One-touch f!tt!ng foro4) C8 (One-toué‘: fitting for 28)

C6 (One-touch fitting for ¢6) C6 (One-touch f!tt!ng for o6) C10 (One-touch fitting for #10) SV

C8 (One-touch fitting for 28) e
mas"t';‘t’ifngase D) W =19n + 45 W =43n+77 W =51n + 81 SZ
Applicable flat ribbon cable connector Socket: 26 pins MIL with strain relief (Conforming to MIL-C-83503) P
Internal wiring @ +COM (Type 20P), -COM (Type 20N) SY
Rated voltage 12,24 VDC ——
Q Note 1) For more than 10 stations (more than 5 stations in case of SS5X7), supply pressure to P port SYJ
on both sides and exhaust from EA and EB port on both sides.

Note 2) The withstand voltage specification for the wiring unit section is JIS C 0704, Grade 1 or its

equivalent.

Flow Characteristics

Port size Flow characteristics
1— 4/2 (P — A/B) 4/2 — 5/3 (A/B — EA/EB)
Model C C
1,53 4,2
L ’ [dm?/ b Cv [dm?/ b Cv
1712, 22 12 (s-bar)] (s-bar)]
SS5X3-20x Rc /8 C6 0.72 0.29 0.18 0.80 0.36 0.21
SS5X5-205 Rc V4 C8 1.9 0.28 0.48 2.2 0.20 0.53
SS5X7-20R Rc V4 C10 3.6 0.31 0.93 3.6 0.27 0.88
Q Note) The value is for manifold base with 5 stations and individually operated 2 position type.
Internal Wiring of Manifold
Station 12 | Station 4 Station 3 Station 2 Stati%n ‘1I
r == [ el Sttt B el A i 0i
1 1 : ! 1 { : I
L L L it Pl
Triangle mark
indicator position
O )
[ a25 dﬁ( --------- a7 as a3 K:ﬂ
' 41 N ™ N ot
26; %+ ————— . ,_,__\;.g; \? 6} %4: 2 Connector '«
: 7IL—_f_r ( ' i [ i i
P o i P | i
zzx IT T o0 Iz T
T o< m < m < 0 < 0 <
o 9o T T helie] T T T T helie]
€ E 20 SRS 20 Sh] i)
£ E c Cc c c c c c c c c
5] o9 %9 ko) Ko} %0
(X&) [s3¥e] [s3Ke] [s3¥e] [3e] [s3¥e]
2 %) [0 DD DD K]
‘é B N < © N -
28 I — < s s s
238 kS i b5 3 3
5 E »n »n (%] (%] [}
(&} o
(Max. 12 stations)
Note) q
Terminal no. is not indicated on the connector. Triangle mark 2
The terminal no. indicated in the connection 3
schematic of connector, as shown in the 24
reference, means a correlation of 1, 2, 3----26 25
from the triangle mark side on the flat ribbon 2
cable of connector. Reference
* For more than 9 stations, both poles of the common should be wired.
* For single solenoid, connect to the solenoid A side.
* The maximum number of stations is 12. If more than 12 stations are
required, please consult with SMC.
*—COM and +COM specifications are available. (Diagram above is for
+COM specifications.)
1-6-49

O
5



Type20lF\,l

Manifold Option

H Blanking plate assembly

Assembly part no.

SY3000-26-10A

SY5000-26-21A

Series

— SX3000
e al, SX5000
e Nl SX7000

SY7000-26-23A

M Individual EXH
spacer assembly

H Individual SUP
spacer assembly

——

(End plate)

H Cable assem1bly
AXT100-FC26- to

Triangle mark position

Red

375
%62
EHHHHH

25-------

_lus.e)

Connector Assembly for Flat Ribbon Cable

Cable length (L) Assembly part no. Note
1.5m AXT100-FC26-1
3m AXT100-FC26-2 Cable 26 cores x 28AWG
5m AXT100-FC26-3

« For other commercial connectors, use a 26 pins type with strain relief
conforming to MIL-C-83503.

Connector manufacturers’ example

EXH port
(Both sidesy e Hirose Electric Co., Ltd. e Japan Aviation Electronics Industry, Lid.
e Sumitomo 3M Limited e J.S.T. Mfg. Co., Ltd.
¢ Fujitsu Limited
H Plug
These are inserted in cylinder ports or SUP/EXH ports which are not
Series |Assembly part no.| Port size Series |Assembly part no.| Port size being usgd. . . . . .
SX3000 | SX3000-39-20A | M5 x 0.8 SX3000 | SX3000-38-20A | M5 x 0.8 Purchasing order is available in units of 10 pieces.
SX5000 | SX5000-39-1EA | /g SX5000 | SX5000-38-1EA | g -
SX7000 | SX7000-39-1HA | V4 SX7000 | SX7000-38-1HA | V4 a N T “
Note) For protection of the Note) The SUP port may be ) 1 "L:L
wiring unit section from either on the lead wire A [
drain, it should be piped side or on the end plate . . L
at the EA port so that it side (Factory assembled Dimensions
will  not be directly spacer will be shipped - —
exposed to exhaust from with the orientation shown Applicable fittings Model A L D
the valve. in the figure.) fitting od
. 4 KQ2P-04 16 32 6
A\ Caution * Thread type 6 KQ2P-06 18 35 8
[Mounting screw tightening torques | Nil Rc 8 KQ2P-08 20.5 39 10
M2:0.17 N-m F G 10 KQ2P-10 22 43 12
M3:0.8 N-m N NPT 5/32" KQ2P-03 16 32 6
M4:1.4 N-m T | NPTFE 1/4" KQ2P-07 18 35 8.5
5/16" KQ2P-09 20.5 39 10
3/8" KQ2P-11 22 43 11.5
A Warning
When mounting a valve or spacer on the manifold base or sub-plate, etc.,
those mounting directions are determined. If mounted in the wrong
direction, the equipment to be connected may cause malfunction. Refer to
external dimensions in pages 1-6-51 to 1-6-53, and then mount it.
1-6-50

O



SX7000: SS5X7-20P-

Series SX3000/5000/7000 L&

Body Ported

20N

16.5

Q&

\ A

AR

O

I

Fan

[ 21| 21 ]
60

30

L1
2n2-One-touch fitting L2 10
(A, B port)l (Pitch)
Applicable tubing O.D.. o8 2n1-Rc 1/4 P=20513.5 4-04.5
610 (A, B port) (Mounting hole)
<
< o
Al
o
3 |slPeEedeses SMEERE
AN 2SN ZEN7a0\ 1720\ [7an) (1 EAL -
o MINSZZINS/ I\ [\ \N5) | R A
il — o N
48° NN a7 &
o~ NN IR ) [] v< =
3 T e lBeBeBe e )| u o o
I; ] I; ] I; ] I; ] I; l i . N
f > | T
g % 21 L3
> 1O 1@ __51_371
Manual override L
(Press and turn for i e S 8 e Y B )
the locking type.) Triangle mark
|
Manual override
(Press and turn for the
locking type.)
(n) (2) (1) Stations
o)
o)
e s (Light/Surge voltage suppressor)
[J dn‘J’ il ] [
)
3 S ‘ ~
~8 g A e T ] 5
o S |EY B |eh &8 ] § °
i =i ——y ‘ : )
/ G R
Connector polarity indication 28.5 g‘
Applicable connector:
26 pins MIL with strain relief
(Conforming to MIL-C-83503)
SS5X7-20N
{ { ‘ ‘ [ ] ] [
15
_?f? 8. a§: i 28 i ”
B D B ] ©
e e ey

N

Connector polarity indication

n: Stations (n1 + n2)

Stationsn | 3 4 5 6 7 8 9 10 11 12
L1 88 [1085| 129 [149.5| 170 |190.5| 211 |231.5| 252 |272.5
L2 68 88.5| 109 |129.5| 150 |170.5]| 191 [211.5| 232 |252.5

ZS\VC

:Buu |

e

6-Rc 1/4

(P, EA, EB port)

1-6-53

SV
SZ
SY

SYJ
SX



Series SX3000/5000/7000
Base Mounted Manifold
Bar Stock Type

Individual Wiring

How to Order Manifold How to Order Valve Manifold Assembly
Ordering example

Type 41 (Compact type)

Sssx 5 - 41 ] 05 | C8 Double solenoid (24 VIE)C)

l l SX32405G (2set) %, 7,
. . o 3.
Series Statlolns Blanking plate assembly 5 S’a .
3 SX3000 0.2 2 stat.lons met) \ - 00/76‘
5 SX5000 : : =
20 | 20 stations |

A/B port size o

Lyt

Thread pipin Thread type o e Al [ 5
pipIng . . = v AR T e , | L, single solenoid (24 VOC)
Symbol Port size Applicable series  Nil Rc -1 .5 —_—
M5 M5 x 0.8 SX3000  __F G SX3140-5G (2 set)
o1 g SX5000 N NPT
One-touch fitting (Metric size) T | NPTF
Symbol Port size Applicable series
C4 | One-touch f!tt!ng for o4 SX3000
C6 One-touch fitting for o6
c6 gne-toucg ?tting ;or 62 SX5000 ... Manifold base (5 stations)
c8 ne-touch fitting for & T S95X3.41-05.C6
One-touch fitting (Inch size)
Symbol Port size Applicable series
N3 |One-touch fitting for 5/32" SX3000
N7 |One-touch fitting for o1/4" SS5X3-41-05-C6----- 1 set (Type 41, 5-station manifold base part no.)
N7 |One-touch fitting for o1/4" SX5000 xSX3240-5G -+ 2 sets (Double solenoid part no.)
_ = f #SXB140-5G -+eeevee 2 sets (Single solenoid part no.)
N9 _|One-touch fitting for 05/16 *SY3000-26-9A -+ 1 set (Blanking plate assembly part no.)
Type 42 (Common external pilot type
yp ( P yp ) L * The asterisk denotes the symbol for assembly. Prefix it to the

part nos. of the solenoid valve, etc.

Sssx 5 . 42 = 05 | C8 Add the valve and option part number under the manifold base part

number. In the case of complex arrangement, specify them on the

l l manifold specification sheet.
Series Stations

3 SX3000 02 | 2 stations

5 SX5000 : :

7 SX7000 20 | 20 stations
A/B port size e
Thread piping Thread type o
Symbol Port size Applicable series  Nil Rc

o1 %) SX3000 F G

02 Va4 SX5000 N NPT

02 Va SX7000 T NPTF
One-touch fitting (Metric size)
Symbol Port size Applicable series

C4 | One-touch fitting for g4
C6 | One-touch fitting for o6
C6 | One-touch fitting for o6 SX5000
C8 | One-touch fitting for o8
C10 | One-touch fitting for 10 SX7000

One-touch fitting (Inch size)

SX3000

Symbol Port size Applicable series
N3 |One-touch fitting for 25/32"
N7 |One-touch fitting for o1/4" 5§X3000 m
N7 |One-touch f!tt!ng for @1/4 i SX5000
N9 |One-touch fitting for 5/16 « Connector assembly for L and M types ---Refer to page 1-6-8.

N11 |One-touch fitting for 23/8" SX7000 ¢ Common connector ass’y for manifold-«+.«-++eoeeveeenns Refer to page 1-6-9.

1-6-54

O
5



How to Order Valves

Series SX3000/5000/7000

£sn
Lo |
7|

Type of actuation e

SX3000

SX7000

SX|5

Series

S$X5000

2 position single

2 position double

3 position closed center

3 position exhaust center

A (B (W[N | =

3 position pressure center

40

5|N

L

Pilot type ®
- ypP H: Lead wire length
Nil Internal pilot 600 mm
R External pilot
valves.
Rated voltage ¢ ¢ Common specifications
5 | 24VDC Nil Positive common
6 | 12VDC N Negative common
Vv 6 VDC Note) Put nothing for sin-
S 5VDC gle grommet style
-, and single without
_R| svbc indicator light and

Manual override

300 mm

(Length 300 mm)
LN: Without lead wire
LO: Without connector

Nil Non-locking push type
D Push-turn locking slotted type
¢ Light/Surge voltage suppressor .
Nil | Without light/surge voltage suppressor SZ
S With surge voltage suppressor I
4 With light/surge voltage suppressor SY
¢ Electrical entry SYJ
Grommet L plug connector | M plug connector —
G: Lead wire length | L: With lead wire M: With lead wire

(Length 300 mm)
MN: Without lead wire
MO: Without connector

* The LN or MN option includes 2 sockets for single
solenoid valves and 3 sockets for double solenoid

surge voltage sup-

presser.

O
5

1-6-55



Manifold Option

Manifold Specifications

Model SS5X3-41 SS5X3-42 SS5X5-41 SS5X5-42 SS5X7-42
Applicable valve SX30140 SX3[140(R) SX50140 SX50140(R) | SX7C140(R)
Manifold type Single base/B mount
P(SUP)/R(EXH) Common SUP/Common EXH
Valve stations Nete) 2 to 20 stations

A, B Porting |Location Base

specifications Direction Side

P, EA, EB port Rc /s Rc V4 Rc1/4
. M5 x 0.8 Rc/s Rc1/ Rc 14 1
Port size A, B port | C4(One-ouch fitting for o4)| C4 (One-fouch fitiing o4) | C6 (One-touch fiting for a6) | C6 (One-touch fiting for o6) oo (Oneﬁ:)(u:ch{gin for a0
06 (One-touch fiting for 06| C6 (One-touch fiting for ¢6) | C8 (One-touch fitting for 8)| C8 (One-touch fiting for o8) :
Manifold base weight
W (g) n: Stations W=30n+50 | W=37n+63 |[W=61n+101|W =79n + 127| W =100n + 151

Note) For more than 10 stations, supply pressure to P port on both sides and exhaust from EA and
EB port on both sides.

Flow Characteristics

. Flow characteristics Not)
Port
ort size 15 42 (P — A/B) 4/2 — 5/3 (A/B — EA/EB)
Model © C
1,5,3 4,2
L ’ [dm?/ b Cv [dm?/ b Cv
(75 2% 1212 2 (s-bar)] (s-bar)]

SS5X3-41 Rc /8 C6 0.75 0.19 0.18 0.81 0.23 0.20
SS5X3-42 Rc /8 C6 0.75 0.20 0.18 0.82 0.20 0.20
SS5X5-41 Rc V4 C8 1.8 0.23 0.44 1.9 0.16 0.45
SS5X5-42 Rc 4 C8 1.9 0.20 0.46 1.9 0.12 0.43
SS5X7-42 Rc V4 C10 3.0 0.25 0.75 3.0 0.12 0.66

Q Note) The value is for manifold base with 5 stations and individually operated 2 position type.

H Blanking plate assembly

M Individual EXH spacer assembly

M Individual SUP spacer assembly

& f
| -
(End plate) ™ g (End plate);” '_J- L |
s r". i |
EXH port M SUP port kﬁ
Series Assembly part no.
SX3000 SY3000-26-9A & <&
S$X5000 SY5000-26-20A
SX7000 SY7000-26-22A Series Assembly part no.| Port size Series Assembly part no.| Port size
S$X3000 SX3000-39-2A M5 x 0.8 S$X3000 SX3000-38-2A M5 x 0.8
H Bolt and gasket part no. $X5000 SX5000-39-16EA 17 $X5000 SX5000-38-16EA Vg
Round head combination S$X7000 SX7000-39-16EA 14 SX7000 SX7000-38-16EA 14
screw = Note) The EXH port may be either on the lead Note) The SUP port may be
S wire side or on the end plate side. (An either on the lead * Thread type
assembly is shipped under the condition wire side or on the NI T Re
shown in the figure.) end plate side. (An | RAc
W Plug assembly is shipped F G
Inserted into an unused cylinder port and SUP/EXH ports. :Rg\z:] it;]fhecf?”lig";n N | NPT
Purchasing order is available in units of 10 pieces. gure. T | NPTF
Dimensions
Applicable fittings - 8
| . fitting od Model = L o 8 A
= | 4 KQ2P-04 16 32 6 e
Gasket ﬁ 6 KQ2P-06 18 35 8 L
g 8 KQ2P-08 20.5 39 10 _
10 KQ2P-10 22 43 12 A\ Caution
5/32" KQ2P-03 16 32 6 ’Mounting screw tightening
Series | compomation aorew| _ Gasket 1/4" KQ2P-07 18 35 85 _ [torques__
" W ;0. ‘m
M3 X 30 3/8 KQ2P-11 22 43 1.5 Ma14Nm
S$X5000 (Matt nickel plated) |SY5000-11-15 ]
SX7000 | (v Moot iateq) |SY7000-11-11 A Warning
When mounting a valve or spacer on the manifold base or sub-plate, etc., those mounting directions
are determined. If mounted in the wrong direction, the equipment to be connected may cause
1 6 56 malfunction. Refer to external dimensions in pages 1-6-57 to 1-6-63, and then mount it.

ZSNC




Series SX3000/5000/7000 L&

SX7000: SS5X7-42- |Stations]-02/C10

Grommet (G) 2-M5 x 0.8

(Pilot EXH port)
<In the case of external pilot type>

Manual override (Light/Surge voltage
(Press and turn for suppressor) Manual override Gi:=300
the locking type.) (Press and turn for H: =600
A: Orange the locking type.) (Lead wire length)
— B: Green ] EE’ ‘ Y |
4-945 % F f TV 432
(Mounting ! -
hole) 3,_ = % i _gé sV
= == == == ( T N
= E? \ r | \'— 1 \,\ pry SZ
= el =y g i
o X\ ﬁ"{i; ﬂ@ ﬁu{g k ;’ 1 ;5@ ° o
(I Il @7 ~ 8% Sy
Bl N & ot L
e e bEER SYJ
©
o |1} @"”&”%“"@“P% <8y ¥y 7Y
S e [——— il
M~ 1 —1 L T ( I
S S e =
o |REIEM) 2-M5x 0.8 . 191 <
- 7
5 L2 (External pilot port) w
u 6-Rc 1/4
(P, EA, EB port)
Stations (1) (2) «ereeersesssseersessonns (n) Rc 1/4
e gy e e = — =1
CRCRCNENE @@£‘£@€
EE ; C] | ]
5 bl bl Bl b
ey ol
| FOC0K  [66660-
YNV e Ts
NI ¥ 3
s-{l+ . & o~ Bt gy N
DOy : QOO Oy
7| o 2n One-touch fittings 7
e (Pitch (PItCh)
24 FS=19J) (A, B port) 24 |p=19] 2n-Re1/4
Applicable tubing O.D.: 610 (A, B port)
L plug connector (L) M plug connector (M)
= 484
g £
=300 W3
(Lead wire length)
3.7 |
g - s
= = <
= R=uF
) - e P
© N i o
: o : &
x 3‘@ ! x z@
L I
T . | ‘ ‘

Stations n | 2stations| 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 |20 stations
L1 61 80 99 118 | 137 | 156 | 175 | 194 | 213 | 232 | 251 | 270 | 289 | 308 | 327 | 346 | 365 | 384 | 403
L2 49 68 87 106 | 125 | 144 | 163 | 182 | 201 220 | 239 | 258 | 277 | 296 | 315 | 334 | 353 | 372 | 391

SMC 1-6-63

N



Series SX3000/5000/7000
Base Mounted Manifold
Bar Stock Type

Flat Ribbon Cable

How to Order Manifold How to Order Valve Manifold Assembly

Type 41} (Compact type) Ordering example

SS5X(5—41 |P—05—C8 Single solenoid (24VD_S)

. S
SX3140-5MOZ (3 set) Y z:g,/%
Series Double solenoid (24 VDC)
SX3240-5MOZ (2 set)’,
3 SX3000 (For double solenoid) 4™
5 SX5000 Thread type Connector assembly iz
o NI | Re SX3000-23-2A ', |- S
Common specifications Nil Rc ~.
P Positive common F G %’ j
N Negative common N NPT
T NPTF i
Stations e——— . (For single solenoid)
FT A/B port _SI_ze Connector assembly
stations =
g : Thread piping SX3000-23-1A =
12 | P Symbol Port size Applicable series SS5X3-41P-06-C6
7%&(3 , M5 M5 x 0.8 SX3000
ote) For : 1
Q to 12 stations. ol _/8 - _SXS(_)OO SS5X3-41P-06-C6 ----- 1 set (Type 41P, 6-station manifold base part no.)
One-touch fitting (Metric size) #SY3000-26-10A-------- 1 set (Blanking plate assembly part no.)
; ‘Anplicable series *SX8140-5MOZ --------- 3 sets (Single solenoid part no.)
T Onet Pohrtfi.ze tor od B #SX3240-56MOZ -+ 2 sets (Double solenoid part no.)
€4 |One-touc ' !ng oro SX3000 *SX3000-23-1A ---e-eve 3 sets (Connector assembly no.)
C6 |One-touch fitting for o6 «SX3000-23-2A -veee 2 sets (Connector assembly no.)
Cc6 One-touc: I!tt!ng ;or 26 SX5000
C8 |One-touch fitting for o8 * The asterisk denotes the symbol for assembly. Prefix it to the
One-touch fitting (Inch size) part nos. of the solenoid valve, etc.
Symbol Port size Applicable series Add the valve and option part number under the manifold base part number.
N3 | One-touch fitting for 25/32" In the case of complex arrangement, specify them on the manifold
ne-touch fitting for o SX3000 specification sheet.
N7 | One-touch fitting for g1/4"
N7 | One-touch Tltltlng for g1/ SX5000
N9 | One-touch fitting for g5/16"
Type 42,'3 (Common external pilot type)
Series l L e Thread type
3 SX3000 l ] Nil Rc
5 SX5000 A/B port size F G
7 SX7000 Thread piping N | NPT
c ificati Symbol Port size Applicable series T NPTF
ommon specitications o1 A SX3000
P Positive common 02 V4 SX5000
N Negative common 02 14 SX7000
Stationse— One-touch fitting (Metric size)
03 | 3 stations Symbol Port size Applicable series
: : C4 | One-touch fitting for g4 SX3000
12 | 12 stations C6 | One-touch fitting for 26
Note) For SS5X3: C6 | One-touchfittingforo6 | 5,
410 12 stations. C8 | One-touch fitting for 28

C10 | One-touch fitting for 10 SX7000

One-touch fitting (Inch size)

Symbol Port size Applicable series
N3 | One-touch f?tt?ng for 5/32" SX3000
N7 | One-touch fitting for g1/4"
N7 | One-touch fitting for o1/4"
N9 | One-touch fitting for 5/16"
N11 | One-touch fitting for 23/8" SX7000

SVC

SX5000

1-6-64

O



41 P 42P
Series SX3000/5000/7000 Wi\ a0\

How to Order Valves

SX|5]|1/40, —5||N|MOZ

Series Manual override

3 SX3000 Nil Non-locking push type

5 SX5000 D |Push-turn locking slotted type

7 SX7000 ST

Type of actuation @ e

yp —— ¢ Common specifications SZ

1 2 position single - —

™ Nil Positive common ——

2 2 position double N Negative common SY

3 | 3 position closed center ——

4 | 3 position exhaust center Q * %?Thn;%lﬁ,zeﬁlﬂgm —
5_|3 position pressure center correspond with SYJ

common specifications
for the manifold.

Pilot type o
Nil Internal pilot
R External pilot

Rated voltage ®
5 | 24VDC
6 | 12VDC

How to Order Connector Assembly

@ Positive common specifications

For single solenoid: SX3000-23-1A

For double solenoid, 3 position: SX3000-23-2A
@ Negative common specifications

For single solenoid: SX3000-24-1A

For double solenoid, 3 position: SX3000-24-2A

For detailed information on connector
assembly, refer to page 1-6-9.

SVC 1-6-65

O



]

IF\,I Tvpe425

e Multiple valve wiring is
simplified through the use of
the flat cable connector.

e Clean appearance

In case of a flat cable style, each valve
is wired on the print board of manifold
base to allow the external wiring to be
piped all together with 26 pins MIL
connector.

,/JJ;&',; .

Solenoid A
Solenoid B

1-6-66

Flat Ribbon Cable Manifold Specifications

Model SS5X3-41% | SS5X3-42% | SS5X5-41n | SS5X5-42% | SS5X7-42%
Applicable valve SX3[140 | SX3[140(R) | SX50140 | SX50140(R) | SX7C140(R)
Manifold type Single base/B mount
P (SUP)/R (EXH) Common SUP/Common EXH
Valve stations 4 to 12 stations 3 to 12 stations
A, B port Location Base
specifications Direction Side
P, EA, EB port Rc /8 Rc /4 Rc1/4
q M5 x 0.8 Rc V8 Rc /5 Rc V4 1
R A, B port | C4 (One-touch fiting for 04) | C4 (One-fouch fitting a4) | C6 (One-touch fitting for 06) | C6 (One-touch fiting for 6) o0 (Onel-tqofch ﬂg‘n‘ forot0)
6 (One-touch fiting for 06) | C8 (One-touch fiting for 06) | C8 (One-touch fiting for o8) | C8 (One-touch fitting for 08) !
Manifodbase Weight |\ _ 301\ | g3 | W =48+ 99 |W = 67n + 118|W = 88n + 151 | W = 109n + 174

W (g) n: Stations

Applicable flat ribbon cable connector

Socket: 26 pins MIL with strain relief (Conforming to MIL-C-83503)

Internal wiring @

+COM (Type 41P, 42P), —COM (Type 41N, 42N)

Rated voltage

12,24 VDC

@,

equivalent.

Flow Characteristics

Note 1) For more than 10 stations, supply pressure to P port on both sides and exhaust from EA and
EB port on both sides.
Note 2) The withstand voltage specification for the wiring unit section is JIS C 0704, Grade 1 or its

Port size Flow characteristics
1— 4/2 (P — A/B) 4/2 — 5/3 (A/B — EA/EB)
Model C C
15 4,2 dm?/ b Cv dm?/ b Cv
(P, EA EB) (A.B) (£~bar)] (ébar)]

SS5X3-41 ; Rc /8 C6 0.75 0.19 0.18 0.81 0.23 0.20
SS5X3-42 § Rc /8 C6 0.75 0.20 0.18 0.82 0.20 0.20
SS5X5-41 Rc Va cs8 1.8 0.23 0.44 1.9 0.16 0.45
SS5X5-42 ; Rc V4 C8 1.9 0.20 0.46 1.9 0.12 0.43
SS5X7-42 3 Rc V4 C10 3.0 0.25 0.75 3.0 0.12 0.66

Q Note) The value is for manifold base with 5 stations and individually operated 2 position type.

Internal Wiring of Manifold

q .
Station 12 | Station 4 Station 3 Station 2 | Station 1
T AT TR T S N A S :‘ """" 7 Coi
H 1 1 t >
B
' . i 3t . |
FUNISNENY G AR [ SV P SO S —-d L -4 L-- - ——
Triangle mark
indicator
[ - position
[1dos o as ds L
1\ 261 24 ™ N AN N Connector Note)
, LI 8| “ve| o4l 2
T i _8) S i 714 7
N i ( T 1 1 1
I 1 I [ [ [
L ! I . N [
T3 IT TT TT TT Tz
e o< m < m < m< m <
o Qo T T T T T T T T T T
€ E ‘o S ‘o ESlS) S o
£ E c c c Cc c c c c c Cc
S o L0 K L0 Q90 K
OO [} o © [s3=} o © S ©
2 55} DD DD DD DD
s k] N N < ™ ] -
28 5 S 5 5 S
g8 8 T 3 ] 3
SE » n (7] 1771 n
S8&
(Max. 12 stations) 1
Triangle mark 2
Note) 3
Terminal no. is not indicated on the connector. The 24
terminal no. indicated in the connection schematic 25
of connector, as shown in the reference, means a Reference 26
correlation of 1, 2, 3----26 from the triangle mark
side on the flat ribbon cable of connector.

* For more than 9 stations, both poles of the common should be wired.
Q- For single solenoid, connect to the solenoid A side.
* The maximum number of stations is 12. If more than 12 stations are
required, please consult with SMC.
* —COM and +COM specifications are available. (Diagram above is for
+COM specifications.)

O

SVC



Base Mounted

Pl g9P
Series SX3000/5000/7000 el INpd2n

Manifold Option

H Blanking plate assembly

s &
e L Series Assembly part no.
'J' S$X3000 SY3000-26-10A
i S$X5000 SY5000-26-21A
SX7000 SY7000-26-23A

M Individual EXH
spacer assembly

H Individual SUP
spacer assembly

(End plate) "

(End plate) .

Series |Assembly part no.|Port size
SX3000| SX3000-39-2A | M5x 0.8
SX5000| SX5000-39-16EA | /s
SX7000| SX7000-39-16EA | Y4
Note) For protection of the
wiring unit section, the
EXH port is on the end
plate side.

Series |Assembly part no.|Port size
SX3000| SX3000-38-2A | M5x 0.8
SX5000| SX5000-38-16EA | 1
SX7000| SX7000-38-16EA | V4
QNote) The SUP port may be
either on the lead wire
side or on the end

plate side. (An
assembly is shipped

under the condition
shown in the figure.)
* Thread type
Nil [ Rc
F | G
N NPT
T NPTF

H Bolt and gasket part no.

Round head
combination screw

Gasket vl .

. Round head
Series | combination screw Gasket
SX3000 Shaoo222 |SY3000-11-25
M3 x 30
SX5000 | (iatt nickel plated) |SY5000-11-15
M4 x 35
SX7000 | (iatt niokel plateq) |SY7000-11-11

O

H Cable assembly

AXT100-FC26- :}

Triangle mark position

SV

25--------1

Terminal no.

Connector Assembly for Flat Ribbon Cable

Cable length (L) Assembly part no. Note
1.5 m AXT100-FC26-1
3m AXT100-FC26-2 Cable 26 cores x 28AWG
5m AXT100-FC26-3

+ For other commercial connectors, use a 26 pins type with strain relief
conforming to MIL-C-83503.

Connector manufacturers’ example

e Hirose Electric Co., Ltd.  Japan Aviation Electronics Industry, Ltd.
e Sumitomo 3M Limited e« J.S.T. Mfg. Co., Ltd.
e Fujitsu Limited

H Plug

These are inserted in cylinder ports or SUP/EXH ports which are not
being used.

.3
g —
- I,
A in
- - L
Dimensions
Applicable fittings
—— Model A L D
4 KQ2P-04 16 32 6
6 KQ2P-06 18 35 8
8 KQ2P-08 20.5 39 10
10 KQ2P-10 22 43 12
5/32" KQ2P-03 16 32 6
1/4" KQ2P-07 18 35 8.5
5/16" KQ2P-09 20.5 39 10
3/8" KQ2P-11 22 43 11.5
/A Caution
[ Mounting screw tightening torques |
M2:0.17 N-m
M3: 0.8 N-m
M4: 1.4 N-m
/A Warning

When mounting a valve or spacer on the manifold base or sub-plate, etc.,
those mounting directions are determined. If mounted in the wrong
direction, the equipment to be connected may cause malfunction. Refer to
external dimensions in pages 1-6-68 to 1-6-72, and then mount it.

1-6-67

SZ
SY
SYJ




P
N

.

SX7000: SS5X7-42P- Stations|-02/C10

2n-One-touch fittings

(A, B port)
Applicable tubing O.D.: 010

(Pitch)
P=205 19.5

7

Rc 4
2n-Rc1/4

(A, Bport) \

SN AYENYNVN\V 7 3]
2| 7 B SSRGS RS RS RS L
3 NS/AS/ANS/AE/ASE S S
N
NNV N7 . T
NZAN Y * v
3 d f
EE ey Nualy| N E}] L u Ay E‘E Eﬁ
e e e e e e e e e =
1 2-M5 x 0.8
L2 6 g;lot EXH port)
(Pitch) 51
P=20.5 17.5 4-045 I
(Mounting hole) L
L o o i e e e e | ==
T T H T T T ¥
T Jz
by N N
5 & @ / AT e I
o < k¢ & & Q
0
3% s | -
: o]
3 @i @ ES: ‘7‘6 7
. H—=  S———— ' A
1 ]
K N
m—
Manual override / ___GRe /4
(Press and turn ¥ J (P, EA, EB port)
for the locking L 2-M5x 0.8
type.) (Pilot EXH port)
+  A:Orange . <In the case of external pilot type>
B: Green Triangle mark
(Press and turn for
the locking type.)
(Light/Surge voltage (1) YRS @ (1) stations
suppressor)
. _j"
1 1 ]
N 1 L]
Rl o i
e i e e e e
5 FErrT e e Y rErm———— N
1
2o a=" =
28.5
Connector polarity indication / Applicable connector: 26 pins MIL

SS5X7-42N

| ‘ }
v B[ E R
o |/ PN D)

(Conforming to MIL-C-83503)

Connector polarity indication/

(mm)
Stationsn| 3 4 5 6 7 8 9 10 11 12
L1 88 |108.5| 129 [149.5| 170 |190.5| 211 |231.5| 252 | 2725
L2 76 | 96.5| 117 |137.5| 158 |178.5| 199 |219.5| 240 |260.5
1-6-72 z

74

SVC



series SX3000/5000/7000
Made to Order Specifications:

Symbol

Main Valve Fluoro Rubber Specifications -X90

Fluoro rubber is used for rubber parts of the main valve to allow use in
applications such as the following.

1. When using a lubricant other than the recommended turbine oil, and there is
a possibility of malfunction due to swelling of the spool valve seals.
2. When ozone enters or is generated in the air supply.

Applicable solenoid valves: Series SX3[130, SX5[130, SX7(130

3
Model no. S5 20—|:|DD|:H%H%|—X90
740
=

l Entry is the same as standard products.

The specifications and performance are the same as those of
standard models.

Note) Because in series -X90 fluoro rubber is used for only main
valve, the rubber parts of the application/usage in
conditions requiring heat resistance should be avoided.

1-6-138

o
5

g



	Body Ported Valve: Single Unit
	Specifications
	Component Parts
	How to Order: Port Block Assembly
	Dimensions

	Base Mounted Valve: Single Unit
	Specifications
	Flow Characteristics/Weight
	Component/Replacement Parts
	Dimensions

	Body Ported: Bar Stock/Individual Wiring
	Manifold Specifications
	Dimensions

	Body Ported: Bar Stock/Flat Ribbon Cable
	Manifold Specifications
	Manifold Options
	Dimensions

	Base Mounted: Bar Stock/Individual Wiring
	How to Order: Valves
	Manifold Specifications
	Dimensions

	Base Mounted: Bar Stock/Flat Ribbon Cable
	How to Order: Valves
	Manifold Specifications
	Manifold Options
	Dimensions

	Made to Order: Fluoro Rubber



